0002241368577999

o0 BEXYEY 6—0—

2016 4 25 35 2 1 &

2
2 | BIgCf(x) = S —2lz — 11+ 21200 T, ROKMIZER L.

(1) y=f(x) DT 7 7%»r.

(2) 4<x <20 ED f(x) DERAEL R/MEZ KD L.

(3) ity = f(x) LiEM y = x CHEN 3 ODEDOERMEOH 2 Kb &.

(1N xzZ1ac¥® fr)= -2'—x2-*2(;(_1)+2 11:‘2"12"‘11(
f(x)= X2~ 2x +4 21

= §(x-2)+2

P b il

x<taek, fu= £x33+2(x-1)+2

<

n

#\ 2 /12
'é"l’.z'i' 24 :

= Lx+2)'-2

AR Hads): 13,

(2) o757 &Y s
Bl L (x=10eF), BaME -2(X7 "2008)

ot

() Y=Ff e y=x o %4 £ kud

P e
oy S
-+

() xz1oges ?

5"1’“—21+4—1=0 & -en+s=0

& (x-2)(£-4)=0

2 N . d= ° x -+ 22 olx-fj.‘-l-f-ru-—xdz
FEn (226 (48 wse | xe k
(DA< 1okT , .,
%iz—rzx_—;(:o &= A+22=0 +J -i-)[,l-zi*‘f'_idxa"'{-’l"'_i"x"'u"‘i‘dl
& A(nt2)=0 ! 3 2 |
2
 x=0,"2 =[..%.;-—2’9I1+[%+%_2L

~x8x (0,0),(-2,72)




